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vote yes, those opposed vote no. Have you all voted?
CLERK: Senator Lamb voting no.
SENATOR LAMB: Have you all voted? Record. Senator Newell.
SENATOR NEWELL: It is probably a very beneficial thing
to find out who is all here and who is all. . . who would 
like to have an opportunity to vote on these important 
issues. So, I would like to have a Call of the House.
SENATOR LAMB: A Call of the House has been requested.
Those in support vote yes, those opposed vote no. Record.
CLERK: 20 ayes, 1 nay to go under Call, Mr. President.
SENATOR LAMB: The House is under Call. All Senators
return to your seats and record your presence. All un­
authorized personnel please leave the floor. Senator 
Schmit, Senator Lowell Johnson, Senator Wiitala, Senator 
DeCamp, Senator Higgins. Please begin the roll call, Mr. 
Clerk.
CLERK: Roll call vote. 17 ayes, 27 nays, 2 present and
not voting, and 3 excused and not voting. Vote appears 
on page 1649 of the Legislative Journal.
SENATOR LAMB: Motion fails. Senator Labedz on the Nichol- 
Haberman-Hoagland amendment. Senator Chambers.
SENATOR CHAMBERS: Mr. Chairman and members of the Legis­
lature, I know that we have been here a long time and people 
may find it difficult to concentrate on what we are talking 
about, but you should realize that in order to accomplish 
certain things with reference to the drunk driving problem 
changes are being made in the substance of other statutes in 
the criminal code that would impact on all offenses. If you 
look on page 993» I believe that Is part of Senator Nichol's 
amendment, Senator Nichol is this material in 993 and 994 
part of the amendment that we are considering now? Oh, any­
way it says that the period of probation that can be imposed 
for a first offense can be. . . five years for a second or 
a subsequent offense if the offense is less than a felony. 
Which means that the probation for a misdemeanor can wind 
up being longer than the probation for a felony. This is 
what happens when you begin to develop a tunnel or a narrow 
vision. You look at one object, you force and twist and 
wrench everything so that it fits that one object and dis­
regard how this affects the rest of the system that is 
impacted. So, despite what is being attempted here and all
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